4 8Hz 1 2Hz

1)

2) cc >3

M- cx¥et+ kx = P
TDAP

(Hz) (sec) C ) ( )
1 0.589 1.698 25.911 0.000
2 1.180 0.848 0.000 4.076
3 1.844 0.542 0.000 -0.003
4 2.030 0.493 0.000 9.477
5 3.066 0.326 0.000 0.621
6 3.083 0.324 0.000 14.971
7 4.139 0.242 -6.666 0.000
8 5.151 0.194 -6.834 0.000
9 5.535 0.181 -6.877 0.000
10 6.046 0.165 -6.253 0.000

1 7 2 6



. 308600 .

49300 . 65000 § ‘ B 80000 ‘ B 65000 . 49300 .
1 3 5 7 9 11
1001* 11014 12014 13014 14014—T= 1501°®
Al 1 E & & o A2
3 J© ] |2
1”2P 1214 1314 1414
1 P2 P3 P4

< 1k > EAEH = 1.698(sec)

< 2k > EAEH = 0.848(sec)

< 3k > EAEHE = 0.542(sec)

< 4k > EAHEHE = 0.493(sec)




(FFT)

e i 41
1R [T

IS AR

]

ol 8 e 5 HiT

£ Mt el

|
|51 5 2y B
i Eh#
F=UITARS bW

2 Hz

Max= 206.3047

0.4




(m) 20.0 5.0+27.0+5.0 20.0 5.0+27.0+5.0 20.0
(sec) 0.30 0.28 0.25 0.26 0.32

| IR
(m) 18.0 7.0+29.0+7.0 18.0 7.0+29.0+7.0 18.0
(sec) 0.32 0.31 0.29 0.20 0.34




0.3
5
3
(m) 70.0 54.0 45.0
(sec) 0.38 0.29 0.28

0.4

0.7

0.3
0.15
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